

Musical Math (Notes)

Add or subtract the value of each note to get an answer.

(a) $\text{quarter note} + \text{quarter note} + \text{quarter note} =$

(b) $\text{half note} - \text{quarter note} + \text{eighth note} + \text{eighth note} =$

(c) $\text{beamed eighth notes (4)} =$

(d) $\text{quarter note} + \text{quarter note} =$

(e) $\text{half note} + \text{half note} =$

(f) $\text{half note} - \text{quarter note} + \text{quarter note} =$

(g) $\text{beamed eighth notes (4)} + \text{quarter note} + \text{eighth note} + \text{eighth note} - \text{half note} =$